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AOABE OA = OBYl o] 5HAZ ol n R
/OAB = /OBA = 20°
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A M D

Z31, Wzhe] 90° o|tt. wetd oMPNQ + AAH

oABNM ¥ oMNCD £ A o|oh. oMPNQ += AAE
fiZtdo] dyte gt oz oz oMPNQ £ ] Ho| Ho

Pﬁcﬂ)o

o}

214 )
Z

17}




20.

>
O
oy
Q
0
1
El
o
o
EhY
L
=
5
o
sk
£
O

&
oy
o
i
rr
2
&
>

D

o2 o] T b A2 42 o] 5 &
wttA pEBFD = nfERo|t},

SF

)
i

o




olJ

o}
dlig
Nfo

ojn

21.

A

27}
o]

_
Iy et
N
m 5 ok
g & T &
_m — o —_
N o o) ~X
m s B
Mo WH o o
£% x ®
H o R 5 B
~— o]
o T =y N ~3
®° mo P 3
mo 1B L of =
TN owm N
— N =
o x X g oM

T H &

o 5 B s Y

%o - N

ESEENEN O_L
- &~

T R X N

)A
m_.LE._n_Wn_A.o_n_mo ﬂﬁ

o gy 1) %° B o & oy
OWO OO WO o




22. TS g™ e HArEE ABCD 2 Hol7t 2000]1, BE : EC =
7:3¢ o, AAEC 9] Ho|E oot

A D

AABE + AAEC = %DABCD

3
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23. & 1A H 1= AABC 2 WAoltt «C=60°¥ o, LADB ¢}
(AEB 9] 37]9] §279 (&, ADSt BEx= 2+ /A 9t /B 2] Wz
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A

B X 60 C

@® 200° @180° ® 160° @ 140° ® 120°

S8 ~
AABC oA Al Wiz}9] jto] 180°0] B2
20+42x+460°=180°
o+Xx=60°
AZE o] Al WZhe] -2 180°0]1B =
(ADB = /x, /AEB = /y&} o}
AABEOA] 20 4+ x +/x = 180°--- @
AABD A o +2x 44y =180°---@
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